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945 @ %%’ @ /]\:1!—7_} “_TLUJ Semicircle
@ (Jo) = rr(120 mm)' = 162.86x10° mm' oo N
(1,), = 15 (240 mm)(90 mm)”? = 14.58<10° mm® L e e
(Z,), = 2 (90 mm)(120 mm)® = 25.92x10° mm’
(Jo)y = (1), + (1), = (25.92 + 14.58)x10° mm* = 40.50<10° mm®
Jo = (Jp), = (Jp)y = (162.86-40.50)x10° mm* = 122.36x10° mm*
= Jy = 122.4x10° mm*

b) D 4 = %(120 mm)? = 22.62x10° mm?
- 4
y = — (120 mm) = 50.93 mm
37

@ A = —%(240 mm)(90 mm) = -10.80X10° mm?

y = é(sao mm) = 30 mm

SA = (22.62 - 10.80)x10° mm® = 11.82x10° mm?
2(yA) = [(50.93)(22.62) + (30)(-10.80)]1%<10° mm® = 828.0x10° mm?®

(yA) _ 828.0x10° mm’
XA 11.82<10° mm?

Jo = Jyp — AY?=(122.36x10° mm*) - (11.82x10° mm?)(70.05 mm)? = 64.36x10° mm*
= Jo = 64.4x10° mm*

= 70.05 mm, symmetry = X =0

Y =



